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B4 Instruction Format Note
01 RIEHRE DB *01,A,X,Y# A:0 disable this function
1 enable this function (default)
XARJEJPR1E, [2000-3600], HiAi :
1mV, #RiA 2200
YA 5 ik A s 1] B s 1]
[1-1440], 247 min,ERIA 30
02 B¢ & Ok A IS [E] 8] B *02,X# X:[1-1440], %47 min, ERIA 15
03 WHEHEE. HRREDRE *03,A,X,Y,M,N,Zi# A:0 disable this function (default)
1 enable this function
X: /5 B R (] BRAE , [0.000-10.000],
AL v CRERf/NEOS G =400, BR
A 10.000;
Y- B [T FRE .  [0.000-10.000],
AL v CRERf/NEOS G =400, BR
A 0.000;
M: 55 B 7 [T FR1EL, [0.000-20.000],
BAZ: mA, ERIN: 20.000
N:{H H 37 ] BR B, [0.000-20.000],
BAL: mA, ERiL: 0.000
Z: % 5 Ik i B TR B B A
[1-1440], %457 min,BRIA 1
04 WE R % *04,X# 15=20dbm;
14=19dbm;
13=18dbm;
12=17dbm;
11=16dbm;
10=15dbm;
9=14dbm;
8=13dbm;
7=12dbm;
6=11dbm;
5=10dbm;
4=9dbm;
3=8dbm;
2=7dbm;
1=6dbm;
0=5dbm;

255=H Z T, FTI i ACK HH %




S, default

05

*05,X#

X=0 433MHz,default;
X=1 868MHz
X=2 470MHz
X=3 915MHz

06

% RTC I [A]

*06,Year,Month,Day,Hour,Minute,
Second#

4n: *06,18,08,13,12,19,56#

07

BEE B KB ROEFE R I 7]

*07,X#

X:ZERF B A], [0,300], 84 Fb
RN 180

08

50 B T LA R I 1] T )

*08,X#

X:[0,65535], .47 : s BRik: 30,
0 KARANENEERAEE, B TR
325 [ BE BRI R R

09

VIEWE

*09,ABCDEFGH#

A=0,5% 1] ACK TjfE;

A=1,7F 5 ACK Lii g, 26 25 Al I G Fie
HEH, BROA;

B=0, K% 4 AN RTC I [H], 2R
s

B=1, KIEHHE 17 RTC B [H], JF )3
ACK B 22508 Ik Dy RE s

B IE LY I& H T 40 4 0 )

21

BEEIE

*21, X#

X:A5 8 18,[0,100], 45 4 75 F1 05 45
ARLAfEH, Bik: 40
B A

IR +F1EE>0.2,

433MHz RRUAHIFE 426MHz, 4%
i [426,446), BRI 434 MHz;
470 ABIEHIZ 462MHz, 2
[462,482] , ERiIA 470 MHz;

868 AL UL % 860MHz, #i% it [l
[860,880] , #RKIA 868 MHz;

915 ARIAHIHR 907MHz, i it [l
[907,927] , #RIA 915 MHz;

T WAZBURINS L S 1 A R 45
R

24

PE RF HE

*24 X#

X=0,300bps, ERIA;
X=1,1kbps;
X=2,1.8kbps;
X=3,3.5kbps;
X=4,7kbps;




35 W TR *35 X# X=0, KM, Bk
X=1, ALK
36 TR WY B L[] *36,X# X:MS Y ps(aE], HA7 s, [0,65535],
0 TN 28 AN T A
65535 F N NS 3% — B T AF FIRIE
R AE
2Rik: 0
37 K PA e 2% *37,0#
40 WERIETY *40,X# X=0,AN{7 RTC;
X=1, RTC, BRI\ ;
42 WEEE. BERLHEE *42,AX,Y# A=0, % IR HE, BRI
A=1, 7 5 B 5
X: FL AR AR
WA EE AR HEAE, T DA+ 3k
WA R DA A, DU ATk
A SCRER) N G = A, BT v
Y: AR AR
WIAVREE IS HEAE, WU DA+ 3k
WAV R DA A, DU DA-TF 3k
A SCFERINE S G = A0, AL
mA
B RS #D5X X454
BT HRE #DE
BHECE #DQ
N A #DU
YRS, B, PR E #DT
USB 4T El ELiC %11 log ZiHiE #DP FIENTEEE G H B log X
fHIBR Cid K1 log 4 #DA
i) Y HT I [A] #DB
WE W) wE #DO F% 00 04 05 21 4MFT A 484 Pk 8K
N
HFHLA #DR




